The Fundamental Theorem of Calculus - Derivatives
(Differentiating a Definite Integral)

Integrate the given integral using the Fundamental Theorem of Calculus for
Area to find F(x),and then differentiate F(x) to find F'(x).
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Examine your answers to problems #1 though 4. Is therea
short-cut method to finding F'(x) for problems 5 and 6?
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The Fundamental Theorem of Calculus for Derivatives
(Differentiating a Definite Integral)
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Find F'(x) using the Fundamental Theorem of Calculus for Derivatives.
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Find F'(x) using the Fundamental Theorem of Calculus - Derivatives.
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